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IMPORTANT FACTS AND FORMULAE:

1. RATIO: The ratio of two quantities a and b in the same units, is the

fraction %and we writeitasa:b

In the ratio a : b, we call a as the first term or antecedent and b, the
second term or consequent.

Ex. The ratio 5 : 9 represents with g antecedent = 5, consequent = 9.

Rule : The multiplication or division of each term of a ratio by the same
non-zero number does not affect the ratio.

Ex:4:5=8:10=12:15etc. Also,4:6=2:3

2. PROPORTION: The equality of two ratios is called proportion.
Ifa:b:c:d we write, a:b::c:d wesay that a, b, ¢, d are in
proportion.

Here a and d are called extremes, while b and c are called mean terms.
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Product of means = Product of extremes.
Thus,a:b::c:d « (bxc)=(axd)

i. Fourth Proportional : If a : b = ¢ : d, then d is called the fourth
proportional

ii. Third Proportional : If a : b = b : ¢, then c is called the third
proportional to a, b

iii. Mean Proportional: Mean proportional between a and b is vab

i. COMPARISON OF RATIOS:
We say that (a: b) > (c: d) @%>3

d
ii. COMPOUNDED RATIO:

The compounded ratio of the ratios (a : b), (c : d), (e : f) is (ace :
bdyf).

i. Duplicate ratio of (a : b) is (a2 : b2).
ii. sub-duplicate ratio of (a : b) is (Va:vb)

iii. Triplicate ratio of (a : b) is (a3 : b?)

iv. Sub-triplicate ratio of (a : b) is [a; :b;)

Important Points:

1.

The comparison of two quantities of the same kind by means of division
is termed as_Ratio.
@6y umEWITT B(H DITOBMET AIGHHH0 clpevld QUGS aldFBID SyGLD.

The two quantities to be compared are called the Terms of the ratio.
QUILS gwlgul BH SleNeBm6n aldHHHHeT 2 _BIILIGB6T 6I6ITLIT.

The first term of the ratio is called the Antecedent and the second term
is called the Consequent.

aﬁ]a%]g;g,ﬁm @g,m ® MMl (LPHIEIMIIL]  6TeIBID, @J6enILTD o milienL
HetenImiil] eTaimid  GmIULILeuTLb.

In a ratio, only two quantities of the Same unit can be compared.
261 S6v@G 2 LW B[ DeNeBHmen aldHGHHH 60 UL 60TLD.
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If the terms of the ratio have common factors, we can reduce it to its
lowest terms by cancelling the common Factors.
aldHHHeveion o miyseT  QUTHIS — BTIewBmend  OCBHTERIY(HHIHTEV
SlaBBlevieien QUITHI STTEONEBET HHHF Fi(hHSH6OMLD.

When both the terms of a ratio are multiplied or divided by the same
number (other than zero) the ratio remains unchanged. The obtained
ratios are called Equivalent Ratio.

alFeHFHar B 2 mliysmenuld Gy  erewienimed  OLIHBHleTCT (&)
AUGHHTCT  (UBBWHmsS SHall)) aldad LIBID SBHSGD. SieleuTsl
S HGHLD aFHhIBMm6T FLOTET QIBISHBIF6 61601 FnMB60TLD.

In a proportion, the product of extremes = product of Means.
B HFHFH0  ABOBewIGaTe — CLUBHBGHHoHTons  —Denl.  elewisbered
LRSS0 .

Find the ratio of 500 g to 250g
500 & &G 2508 HGWD 2 66N alHlHHmPH ereiul alalled SHTewlsm.
a.3:1 b.1:2 C. 244 d.20:1

Madhavi and anbu bought two tables for Rs. 750 and Rs. 900
respectively. what is the ratio of the prices of tables bought by Anbu and

Madhavi?

wrHealuld leieyd SJewi® Gemgsemen (PedmGuwi eh 750 MWD eH 900
&G UTRISIMTH6T. eiyad wrisalubd eummsw Guwemgseller aldsdHams
eTeMl QUIQeNl6D SHTEUHTSb.

a.5:6 b.6:5 c.7:6 d.6;7

Find the ratioof 3kgto 750 g
3 && @D 750 &H HGWD 2 66N aIBHFHD HT6wIH.
a.4:1 b.1:4 c.3:1 d.1:3

Find theratioof T m25cmto2 m
1 825 Qg6 @b 2 15 &&D 2 6en alHHb
a.8:5 b.1:2 c.5:9 d.5:8

The cost of parking a bicycle is Rs. 5 and the cost of Parking a scooter is
Rs. 15. Find the simplest ratio of the parking cost of a bicycle to that of
scooter.
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10.

11.

12.

13.

R Waeuemnguiladr mHBISsHs SlLewd ap S5 Gweuid, T & &SI
AUTHASHHS  BHBISHHH SewiLewlld ¢h 15 WFHleuewig OBBID G FHBT
AUTHT HBIGHDHS S Lewid Bl Cu 2 oo alHlHHmHd SHTewIsH.

a.1:3 b.3:1 c.2:3 d.3:2

If2:3and 4: are equivalent ratio, then the missing term is

2: 3 oppb 4:_ o Fuienel Fomer aldFmidsen elwmied alBuUlL 2 M|
a.6 b. 8 c.9 d.3

An equivalent ratio of 4 : 7 is
4 : 7 Bei1 FoTeT QISSLOTEIS]
a.1:3 b.8:15 c.14:8 d.12:21

Which is not an equivalent ratio of 16/, ?
1674 86 aigl swiar aldsib Sibev?

a. % b. %2 C. 1%5 d. 2%8

Find x and y

12:x = y:4=8:16

X LBOID Y-0ul el 1lb..

12:x = y:4=8:16

a. 24,2 b. 2,24 c.18,3 d.6,8

Which of the following ratios are in proportion.
etteupd alSsmidbeiled 61g aldlsh FoOmMEGLWD?
a.3:5,6:11 b.2:3,9:6 c.2:5,10:25 d.3:1,1:3

IfA:B=5:7andB:C=6:11then A:B:Cis
A:B=5:7uwmpib B:C=6:11aaled0 A:B:C-eomw srems.
a.55;77:66 b.30:42:77 ¢.35:49:42 d. None of these

IfA:B=3:4and B:C=8:9then A:Cis
A:B=3:4umpib B:C=8:9 aafled A:C ow srews
a.1:3 b.3:2 c.2:3 d.1:2

If2A =3B =4C,then A:B:Cis

2A=3B=4C aafled A:B:Ce sreams.
a.2:3:4 b.4:3:2 c.6:4:3 d.20:15:2
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14.

15.

16.

17.

18.

19.

20.

it 2-B_C thenA:B:Cis
3 4 5
§=%:% eteofled A :B:C & sewips.
a.4:3:5 b.5:4:3 c.3:4:5 d.20:15:2

If 15% of x =20% of y then x : y is?
X @60 15% wmpid y- ulled 20% &wib eafled X:y &  HTewis.
a.3:4 b.4:3 c.17:16 d.16:17

If x:y=5:2, then (8% + 9y) : (8x + 2y) is
Xx:y=5:2aale0 (8x+9y): (8x+2y) & sremis.
a.22:29 b. 26 : 61 c.29:22 d.61:26

If (x:y)=2:1then (x2-y?):(x2+y?)
(x:y)=2:1 aafled (xX2-y2):(X2+Yy2) & HTews.
a.3:5 b.5:3 c.1d d.3:1

Kumaran has Rs 600 and wants to divide it between vimala and yazhini
in the ratio 2 : 3 who will get more and how much?
a. Yazhini, 120 b. Yazhini, 60

c. Yazhini, 180 d. Kumaran, 120

GWIAILLD dh 600 2 6iTeNgl. DIHemeT &loe0T WBXID WTPeldEd e uled 2
3 e alHBHHFHeL UBMHEHSHBIT. EHeaufled WMHdbEG DISHBOTHSE

ML HGHID? 6T6lal6T6)]?

a. wmPedl 120 b. wmPed 60  c. wmPed 180 d. gwyer 120

If Rs 782 be divided into three parts, proportional to %: %: % then the first
part is

a 782 — o %I%%GIGOT ety UGHsemmad  Lfles@gd Ourepgd  Seumnled
(IPH6L LGS 616016017

a. Rs. 182 b. Rs. 190 c. Rs. 196 d. Rs. 204

A sum of Rs. 1300 is divided amongst P, Q, R, and S such that
P'sshare Q'sshare R'sshare 2 2Then P'
Q' sshare R'sshare S'sshare 3

s share is:
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21.

22.

23.

24.

25.

|APP® 11|

DY CENTRE

CHENNAI

o 1300-s3, P-ar umie — Q-am um@ — R-&r umig _ 26[65[[13 e 55850
Q-1 um @ R-e1 UG S-e1 UBIG 3

LIMSHHT60, DiFeT P- 61 LBIns SHTeus.

a. Rs. 140 b. Rs. 160 c. Rs. 240 d. Rs. 320

The prices of a scooter and a TV are in the ratio 7 : 5. If the scooter costs

Rs. 8000 more than TV set, then the price of a TV set is

R OH FHIIUTHEID BBID @(H CFHTenevdhasT & UL iguier allensvuiler
A&eD 7 : 5 DHFEI] aUTHAIHH allewey OCFHTemevdaTL G Igullesr
alewevenwl &l ap 8000 SHFHHD elele0, DbHH OHTMEVHBTLF  GUL 19uilesr
alleneL 616016017

a. Rs. 20,000 b.Rs. 24,000  c. Rs. 28000 d. Rs. 32,000

A sum of money is to be distributed among A,B, C, D in the proportion
of 5:2:4:3.If C gets Rs. 1000 more than D, what is B's share?

am Oarewswmarig A, B, C, D sdwu mprebeumdbd O : 2 : 4 : 3 aais
aldFHHHe0 LIMeHx OCarhssiiupGdns. C — B8, D — & oL ap 1000
9IFHB lenaled Hewl dH@&0Ioalled, B — &1 LIkIG eleiten?

a. Rs. 500 b. Rs. 1500 c. Rs. 2000 d. none of these

20% of (A +B) =50% (A - B). find the ratio of A and B
20% (A + B) =50% (A-B) erafled A ommid B ullenr eldgd smewrs.
a.7:3 b.3:7 c.3:8 d.8:3

Weekly incomes of two persons are in the ratio of 7 : 3 and their weekly
expenses are in the ratio of 5 : 2. If each of them saves Rs 300 per week,
then the weekly income of the first person is

Brewi(h  BHUTHEHMLU  6UTJ eU(HTID 7 : 3 6B  al&SHHHeVID, 6uTy
Qgevey 5 : 2 oM AlHBHHPHeVID o eitenel. SlaUTHeT SHEUHEW  euUTILD
apuTU1 300 GFLOSHSIBEIT. 616TBTE0 (LPHev BUIFIGH UMY QUHLOTEILD 6161166, ?
a. Rs. 7,500 b. Rs. 4,500 c. Rs. 6,300 d. Rs. 5,400

A bag contains one rupee, 50 paise and 25 paise coins in the ratio 5: 6 :

7. If the total amount in Rs. 390. Find the number of coins of each kind.
@ muUUlled, e pUTUI, 506MUST, 25 eMUFT HTewILmIGH6T (WedmGu 5 : 6 :
7 oaiB QlFHHHL o 6ilengl. DIGH OoTHSH  WFHULY  eh 390  eTedled
6U06UT (T HTewTUIMIS6T6I  6T6u0T6m0N&6mD 616016017

a. 200, 280, 240 b. 240, 200, 280

c. 200, 240, 280 d. 280, 240, 200
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26.

27.

28.

Find the 4th proportional to 4, 16 and 7
4,16, 7-a51 mreiismausd al&eHHmmHd HRIBLIG.
a. 26 b. 28 c.24 d. 22
Solution:

4:16::7:x

a_r

16 x

_ 7x16
X —
4
x= 28

The sum of three numbers is 264 if the first number be twice the second
and third number be one third of the first, then the second number is
cLPEIIMI  6TemIH6IN6T FnBHD 264 (LPSH6eL 6l6wT ET6wILTeudl elewienesnl GUT6L E)(H
DL BIGLD, CLPGIIMBTAUS]  6T60T  (LOFHeV elemienesnl  GUIT6D eSS0  6(hH DL MiGLD
6Teoled @TeuTLeUgHl 6Tell WITH|?

a. 48 b. 72 c. 54 d. 64
Solution:
Let the second number be x

First number = 2x and

third number = %X

2x+x+2_3X=264

6x+3x+2x=264

11x =264 x3
x=72

In the ratio x% of y to y% of x, its fraction value is equal to
y — &1 X% - @b x-ar Yy Qo Cu s aldlg Leararbder gL

a. %y b. xy C. % d.1
Solution:

x% of y : y% of x

X y:LxX

100 100

1:1

1

-=1
1
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29.

30.

[STUDPY%NTRE]

CHENNAI

The ratio of the number of boys and girls in a college is 7 : 8. If the
percentage increase in the number of boys and girls be 20% and 10%
respectively, what will be the new ratio?

R Heogumiufled o eilen  SLemwidbe BBID CUetsEhHBT aldlsHd 7 @ 8.
apeiseiey 20% pb wBpd Guentdefed 10% b P @M@ QUTIpS!
USWw el&leLd ereitenr?

a.8:9 b.17:18 c.21:22 d.cann't be determined
Solution:
Boys = 7x
girls = 8x
7x x 12965, 110 — 59 . 20
100 100

The ratio of three numbers is 3 : 4 : 7 and their product is 18144. The
numbers are:

cPEOIml  eTemidoeMedl all&dlgd 3 @ 4
18144. o1edlled SIbHS 6T60TH6IT 616016017

7 BBID DHINL Ul OLI(HEBHHED  LI6V6T

a.9,12, 21 b. 15, 20, 25 c.18,24,42 d. None of these
Solution:

3x:4x:7x

3x x 4x x 7x = 18144

x3 =216

X=6

The numbers are 18, 24, 42
RATIO & PROPORTION - ANSWER KEY

1 2 3 4 5 6 7 8 9 | 10
C B A D A A D D| A |C
11 (12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
B c| C | C | B C| A| A D | B
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
A C| A | C| C | B B | D | C | C

APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




